
او ی  اد ب  ا
م  ه  ن  دس  ی ری  اض  ی ت  م  ری  ن  ات ش  ش  م س  ری

ک  ن  ی  د. ح  ل م  ت  ن  اه  ی ف  وری  ه ت  ب  دی  لات از اس  ت  ف  اده ب  ا را زی  ر م  س  ائ  ل

۱. 𝑢𝑡𝑡 = ۴𝑢𝑥𝑥 + ۳𝑒𝑡+𝑥, ۰ ≤ 𝑥 ≤ 𝜋, 𝑡 ≥ ۰
𝑢(𝑥, ۰) = 𝑒𝑥, 𝑢𝑡(𝑥, ۰) = ۰, 𝑢𝑥(۰, 𝑡) = 𝑡, 𝑢𝑥(𝜋, 𝑡) = ۱

۲. 𝑢𝑥𝑥 +𝑢𝑦𝑦 +𝑢𝑧𝑧 = 𝑥𝑦𝑧, ۰ ≤ 𝑥,𝑦, 𝑧 ≤ ۱
𝑢(۰, 𝑦, 𝑧) = 𝑦𝑧, 𝑢𝑥(۱, 𝑦, 𝑧) = ۰,
𝑢𝑦(𝑥, ۰, 𝑧) = 𝑥𝑧, 𝑢(𝑥, ۱, 𝑧) = ۰,
𝑢(𝑥, 𝑦, ۰) = 𝑥𝑦, 𝑢(𝑥, 𝑦, ۱) = ۰

۳. 𝑢𝑡 = 𝑢𝑥𝑥 +𝑢𝑥𝑥𝑡 −𝑢𝑥𝑥𝑦𝑦 +𝑥𝑦𝑡, ۰ ≤ 𝑥,𝑦 ≤ ۱, 𝑡 ≥ ۰
𝑢(𝑥,𝑦, ۰) = 𝑥𝑦۲,
𝑢􏿖
𝑥=۰
= 𝑦𝑡, 𝑢􏿖

𝑥=۱
= ۰, 𝑢𝑦􏿖
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۴. 𝑢𝑡𝑡 = 𝑢𝑥𝑥 +𝑢𝑡𝑡𝑥𝑥 −𝑢+ 𝑡𝛿(𝑥 − 𝜋
۴ ), ۰ < 𝑥 < 𝜋, 𝑡 > ۰

𝑢(𝑥, ۰) = 𝑥, 𝑢𝑡(𝑥, ۰) = ۱, 𝑢(۰, 𝑡) = 𝑡, 𝑢𝑥(𝜋, 𝑡) = ۱.

۵. 𝑢𝑡 = 𝑢𝑥𝑥 +𝑢𝑦𝑦 −𝑢𝑥𝑥𝑦𝑦 − ۲𝑢+ 𝑥𝑦𝑡, ۰ < 𝑥,𝑦 < 𝜋, 𝑡 > ۰
𝑢(𝑥,𝑦, ۰) = 𝑦𝛿(𝑥 − 𝜋

۳ ), 𝑢𝑡(𝑥, 𝑦, ۰) = 𝑥𝛿(𝑥 − 𝜋
۴ ),

𝑢𝑥(۰, 𝑦, 𝑡) = 𝑦𝛿(𝑡 − ۱), 𝑢(𝜋,𝑦, 𝑡) = 𝑦𝑡,
𝑢𝑦(𝑥, ۰, 𝑡) = 𝑡𝛿(𝑥 − 𝜋

۲ ), 𝑢(𝑥,𝜋, 𝑡) = 𝑡۲𝛿(𝑥 − 𝜋
۵ ).

۱


